PURPOSE OF DRAWINGS

CONSTRUCTION DOCUMENTS.

THESE DRAWINGS ARE 90% COMPLETE CONSTRUCTION DOCUMENTS
RELEASED FOR BIDDING. THEY ARE NOT RELEASED FOR CONSTRUCTION
UNTIL APPROVED BY THE TOWN OF TRUCKEE. CONTRACTOR SHALL INCLUDE
APPROPRIATE CONTINGENCIES TO ALLOW FOR CHANGES RESULTING FROM
PLAN CHECK COMMENTS AND OTHER MODIFICATIONS TO GET TO 100%

STRUCTURAL SHEET INDEX STRUCTURAL SHEET INDEX

$1.00 STRUCTURAL COVER SHEET S5.02 TYPICAL CONCRETE DETAILS

S1.01 GENERAL NOTES S5.03 TYPICAL CONCRETE DETAILS

$1.02 GENERAL NOTES S5.04 CONCRETE FOOTING DETAILS

$1.03 GENERAL NOTES S5.05 TYPICAL CONCRETE WALL DETAIL

S1.11 STRUCTURAL SPECIAL INSPECTIONS AND TESTING S5.06 CONCRETE WALL DETAILS

$1.12 STRUCTURAL SPECIAL INSPECTIONS AND TESTING S5.07 CONCRETE WALL DETAILS

S$1.31 PLAN NOTES & SCHEDULES S5.08 CONCRETE SHEAR WALL SECTIONS
FIRST FLOOR FOUNDATION PLAN S5.09 CONCRETE SHEAR WALL SECTIONS
2ND FLOOR FOUNDATION AND FRAMING PLAN S5.10 CONCRETE SHEAR WALL DETAILS
3RD FLOOR FOUNDATION AND FRAMING PLAN S5.11 CONC SITE RETAINING WALL SECTIONS
ROOF FRAMING PLAN S5.12 CONC BLDG RETAINING WALL SECTIONS

S$2.05 ENLARGED ROOF PLANS S5.20 TYPICAL STEEL DETAILS

$3.01 BUILDING SECTIONS S5.21 TYPICAL STEEL DETAILS

$3.02 BUILDING SECTIONS S5.22 TYPICAL STEEL DETAILS

S3.11 SECTIONS S5.23 STEEL DETAILS

$3.16 SECTIONS S5.24 STEEL DETAILS

S3.41 FLOOR SECTIONS S5.25 STEEL DETAILS

$3.52 ROOF SECTIONS S5.31 TYPICAL BRBF DETAILS

$3.53 ROOF SECTIONS S5.32 TYPICAL BRBF DETAILS

S3.54 ROOF SECTIONS S5.33 TYPICAL BRBF DETAILS

S4.01 CONCRETE SHEAR WALL ELEVATIONS S5.34 BRB ELEVATIONS

S4.02 CONCRETE SHEAR WALL ELEVATIONS S5.35 BRB DETAILS

$4.03 CONCRETE SHEAR WALL ELEVATIONS S5.36 BRB SCHEDULES

S4.04 CONCRETE SHEAR WALL ELEVATIONS S5.51 TYPICAL METAL DECK DETAILS

S4.05 CONCRETE WALL ELEVATIONS S5.52 TYPICAL METAL DECK DETAILS

S4.11 BRACED FRAME ELEVATIONS S5.53 TYPICAL METAL DECK DETAILS

S4.12 BRACED FRAME ELEVATIONS S5.61 DETAILS

s4.21 MOMENT FRAME ELEVATIONS S6.01 TYPICAL WOOD DETAILS

S4.22 MOMENT FRAME ELEVATIONS S6.11 WOOD DETAILS

S4.23 MOMENT FRAME ELEVATIONS S6.12 WOOD DETAILS

S4.24 GENERAL NOTES S6.13 WOOD DETAILS

S4.25 ONE SIDED CONNECTION DETAILS S8.00 TRASH ENCLOSURE PLANS AND DETAILS

S4.26 TWO SIDED CONNECTION DETAILS S8.01 TRASH ENCLOSURE DETAILS

S4.27 BEAM AND PLATE DETAILS S9.00 ELEVATOR FRAMING PARTIAL PLAN AND DETAILS

S4.28 MISC DETAILS $9.01 ELEVATOR DETAILS

$5.01 TYPICAL CONCRETE DETAILS S10.00  |NANA WALL & SLIDERFRAMING AND DETAILS

ISSUE

ISSUE FOR BIDS SET
RELEASE DATE

12/20/23

REVISIONS
PROJECT NO. 22102
MADE BY Author
REVIEWED BY Checker

STRUCTURAL
COVER SHEET

S51.00



® ® ® ®
Q)
®
®
e o . { .
N S R
® { [ — — T v 1 O LI~ & ]
5 I A7 : || 1154.03 || L__ _: e
§ Lﬁ 0 es
|
::ﬁ‘—L—L‘EaAEYDZE@SLAB
|
S3.01 @ __}__ .
P
® - @
5" SLAB ON GRADE w/ & g \3208/
I i 108 0.0EL 676200) i | I
L
saAoz — . —__“&/_L__?%r—!
® @ 4
|
I I—fma— ©
% *\W12x96 (40'-0" H) 1.0EA@
T *W12x72 (38'-2" H)+ (22"x22"x1-1/2") Base Plate w/ 2 1/8"@ Anchor2" Gr... 1.0EA@ AW@
+ *W14x132 (39'-6" H) 1.0EAQ@ S oot
2 *W14x132 (27'-0" H)+ (24"x24"x1-1/2") Base Plate w/ 2 1/8"Q@ Anchor2" G... 1.0 EA -
* «\W14x132 (356" H Approx.) 10EA@ = .
2 *W12x53 (37'-0" H Approx.)+ (14"x14"x1-1/2") Base Plate w/ 2 1/8"@ Anc... 1.0EA %
< *HSS 6x6x3/8" (25'-6" H) + Base Plate (6"x12"x3/8") w/ 3/8" Dia Bolt 1.0 EA L - o Lo
2 *HSS 6x6x3/8" (11'-6" H) w/ 3/8" Dia Bolt+ (12" x 12" x 1") Base Plate Gra... 1.0EA@ ' o5
[1(2) L3x3x3/8" x 18" w/ 1/2" Diax4" Headed Studs @ 36" O.C 153.4 FT| |
[*1L4x4x3/8" w/ 3/4" Diax4-3/4" Embed Hilti KB-TZ @ 32" O.c 17.9FT |

 *(4'-0" W) Metal Prefabricated Stair (by Others)- 20 EA Treads (10" D)- 21... 1.0EA@

ISSUE
ISSUE FOR BIDS SET

RELEASE DATE
12/20/23

REVISIONS

PROJECT NO. 22102
MADE BY Author
REVIEWED BY Checker

FIRST FLOOR
FOUNDATION
PLAN

S52.01



6,783 -0" TOF

®

16-0"

10-0"

16-0"

146'-0"

260"

LEVEL 2 - FRAMING PLAN

11 W16x31 Beam 37 f1[]
2o W12x72 (19-8" H Approx ) 106A@
126'-0" W12x18 Beam s0sr1]
S+ W12x72 (234" H Apprax ) 10EA
17 W12x14 Beam 19,1
24 W12x72 (23-0" H Approx ) 10EA@
P —e—i— W21x50 Beam 1041¢7[]
S W12x72 (150" H)
17 W18x35 Beam 10857
« HSS 8x8x3/8" (12-0" H Approx ) w/ 3/8" Dia Bolt
I_I |3 W14x22 Beam 340FT[]
«WA12x72 (12-0" H) 20eA@
-1 W16x50 Beam sa1rTl
«WA12x72 (23-0" H) 10EAQ@
1 W16x67 Beam arofT]
«W12x53 (23-0" H) 106A@
. [;7 W16x38 Beam sa1FT[]
by - : «W12x72 (12-0" H) 10EAQ@
[;1 W16x40 Beam 15T
SEE ELEVATION FOR STEPPED SPACING < W14x132 (153" H) 10EA@
1 W24x68 Beam 4a9FT[]
AND WALL SECTIONS —_——— ggNgEsgég on £ W12x06 (15-0" H) 106A@
r Al -3 HSS14x6x1/2 s7F1[]
«W12x72 (10-0" H) 10EA.
$5.02, «Circle (W14) e
W] < W1X72 (118" H)
* Circle (W16) 30EA®
2+ W12x53 (13-6" H Approx ) 20eAQ@
«Circle (W18)
«Circle (W21)
« Circle (W24) 206A@
- L3x3x3/8" 253FTH
* Box(W16)
% L3x3x1/4" + (3'x3"x3/8") Stiffner Plate @ 24" @ ¢ 730FT[]
dp3'x18 GA Metal Deck
Thermal Break Connection (8/5 25)
Thermal Break Connection (%/5 25)
(W12 & W16) Beam to Beam Connection
(W12 & W13) Beam to Beam Connection
RECESSED SLAB AT W14 & W16) Beam to Beam Conneclion
(W12 & W21) Beam to Beam Connection
WALK OFF MAT (W16 & W21) Beam to Beam Connection
(W16 & W16) Beam to Beam Connection
(W16 & W18) Beam to Beam Connection
——————— A (W18 & W21) Beam to Beam Connection
R | W18 Beam to Column Flange Connection
,\b&+ ‘W12 Beam to Column Flange Connection
Z W21 Beam to Column Flange Connection
& W18 Beam to Column Web Connection
<+ W21 Beam to Column Web Connection 10EA
| 17 L3x3x3/8 1403¢7[]
| 2+ W24 Beam to Column Web Connection 10EA@
| |1 Laxax3/3 nerr]
| 11 (2)L3x3x3/8x1-6" @ 36" @ C (1/S5 06) 213710
_______ o
|
|
5 | CONC STAIR
@ | ON GRADE
S 4 $5.02 PER
STEPS A
116" VERTICAL RECESSED SLAB
AT WALK OFF MAT $5.12 I
—_— éF3
£/ o o ole R &
(7 Qi S E— e - SO K
Y% |— | V%4 _ >
i b | < — ————— — T
L | E Hows P-8 P-8
e 4+ :
L _ 4] oo oo /f(-O-
PP)-7-6") + oo
— 12x19 (8) = =
02" o
S (-0-2) D ﬂ | W16x31 (40) W16x31 (10)
4 ) * = i
2 X - !
| [ 2\ 31 (18) g g 2 3 |
“— 5" SLAB ON GRADE w/ \85.06/ OH 3 3 & 3
#4 @ 12"CC EA WAY - g
TOC= +12-0" x31 (14) = s 31 (40 W16x31 (10)
T - - 1/54.23 I
|
A \ E 1 = = 8
| r 3 8 & S5.25,
| = s g 2
: W16x31 (14) W18x35 2468 (14,
T
| Z 4
| 31/2" NW CONC ] - -
| OVER 3'x18GA STy |3 '
o METAL DECK = !
|1 " 14x228 ||= T A
2/54.02 W16x3 1/54.01 | \s5.08
W18x35 jo) /
\|,/ o
(o s e ;
& e ® 3 2 3/4" T8G PLY OVER 2x
\s5.08/ s & = SINE & / T&G DECKING, SEE
ol 2
T B = = Sl $6.01
W16x31 (14) W16x67 &
—] %l
=/
hal 3 Q A
AN I o i 8 g [ I
s3.02/ | 7 = !
. : W24x68 (14) W16x31 6x31 Jea
— [
| COL TP
WALL, TYp Yﬁ
AT GRID C = g5 | sur [ange
a - / \s5.25/ '
= 2
W16x31 (10)
)
o
2P
"3 o "
BM TO 3 o/ |18 3/4" T&G PLY OVER 2x
WALL TYP 70\ COLTOWALL & L7 K2 T&GDECKING, SEE n
AT GRID C \8523 AT GRID C/1 a (e01/
S5.06/ \16x31 (10) &
TYP SITE Sl
RETAINING WALL =
i)
1/8" = 10" &
» O < /
S P8
A
e (it S3.11
| 1 | v
P o g

ISSUE
ISSUE FOR BIDS SET

RELEASE DATE
12/20/23

REVISIONS

PROJECT NO. 22102
MADE BY Author
REVIEWED BY Checker

2ND FLOOR
FOUNDATION
AND FRAMING
PLAN

S52.02




TYPSITE
RETAINING WALL
OPP HAND

S$5.11
® : : :
[ N |
A\ : 1154.05
\s3.02 | 25-11" 270" I 18-6" 8-6" 270" 270" 180"
&
£
@79
® i :
|
TYP 18x55 (27) ¥
A -02 P-01
EXT COL 504 L—_\_1 q\'\w. o) %
o <
SLAB ON GRADE | % & -
! \ 11u11" | 4. =
a4
[— - \l © |
. 1% 2| wixioy 12x19 2
A | | I g = N
\s3.41/][ 1 P = =
L 16x31 (14) @
11W16x31 Beam 09477 ] s l <ss.41>
$eW12x72 (183" H Approx.)+ (2) (6x6x 18" x 3/4" ) Connection Plate+ (22'x22"x1-1/2") B... 10EA® . o PRl " typ
11 W16x40 Beam 27.0F7H o A %, P NP
$oW12x53 (156" H)+(12'x6"x174") Web Filler Bend Plate+ (4) (2x2x 1/4" ) Washer Plate ... 10EA® > ) Al N 12x10
W12x19 Beam as14FTL] | < = W16x31 (14) ! A
2o W14x132 (180" Hi+ (24"x24"x1-1/2") Base Plate w/ 2 1/8"®@ Anchor2" Grouted+ (22'x2... 10EA | | x31 (14) 4 ;
11 W12x26 Beam 74FT[] | | A W24x104 (14) . s %
$°W12x72 (17"-6" H Approx.)+ (2) (6x6x 18" x 3/4" ) Connection Plate+ (22"x22"x1-1/2") B... 1.0EA@ L B ] > I 8 b4 COLUMN COL THERMAL
11 W21x50 Beam 2339FT[ ] == ; — N [ L <5 BASE s604 BREAK
40 W12x72 (17'-3" H Approx.) 10EA@ 1/54.21 28 3 - '
17 W14x22 Beam 642FT[ ] x31 (14) & 0 = &
i1 HSS 2x2x5/16 Cont 1051 & gl ©
1 W24x68 Beam 1210F1] el s T
<o W12x53 (15-0" H) 10EAD W16x31(14) vaox o] W18x35 (14) T
W24x76 Beam 26.0FT[] 2
20 W12x53 (219" H) 20EA0) | § 1[I "TYP AROUND STEP
111 W24x104 Beam 19.5FT[ ] S ?5 a | i | wn'e\j @ W8 o
2 W12x53 (18'-2" H)+(12"x6"x174") Web Filler Bend Plate+ (4) (2x2x 1/4" ) Washer Plate  1.0EAQ) 24N S La"/" [ | 5 .
11 W24x117 Beam 19.5F T[] 16x31 (14) = @ IR o ©
2°W14x132 (150" Hj+ (24"x24"x1-1/2") Base Plate w/ 2 1/8'@ Anchor2" Grouted+ (22"x2 1.0EA@ Wii6x31 (14) 18xp5 (14 [ E W16x31 (14) o
W21x62 Beam 1038 FT[] / == =
< HSS 6x4x5/16 (15'-0" H) + (2) 6x4x3/8" Connection Plate+ (8" x 6" x 1/4") Base Plate (A... 10EA@ 1 —
171 W18x65 Beam 720F1] 4 i 3 ) o ol [TV E T o S3. T 2
17 L dxdx1/4” 105FT[] Pt il wizx1o A &I o wiexs(14) | | | i
1171W18x35 Beam 2038FT[ ] 5‘@& S5 . o ) = T U L
11 HSS 12x6x1/4 Beam $1.2FT[ ] 7 W18x65 (18) —_ s 118x80 (26 W18x50 (26)
1:7W18x50 Beam 625FT[] 5 Y Wi i
2+ HSS 6x4x5/16 (156" H) + (2) 6x4x3/8" Connection Plate+ (8" x 6" x 1/4") Base Plate (A... 1.0EA 6 = [l 1=, = 1
W18x55 Beam 454FT[] K i 70 et == o < < - S
ISS 9x9x5/8" (106" H) 10EA@ D & se [T b 4 2o | wiaxig 2 2 h | [ &
W12x14 Beam 88FT[] C— e Serer &k & ) I &
2 *HSS 8x8x5/8 (10-6" H) 10EAQ ¢‘§ - ot % p E
l:x HSS14x6x1/2 o 8.7 FT% = 14)-4" 7 Wi ) WA16x31 (40)
* HSS 8x8x5/8 (11'-0"H)+ (14" x 14" x 1/4") Base Plate Grade 36w/ Washer Plates & Em  1.0EA - —
16" x 6" x 1/4") Knife Plate 20EA@ pRike210) [ = W16x31 (10)
W16x67 Beam 27.0FT[] e fies 8 ) > 2 =
2 *HSS 8x8x3/8 (10'-6" H) + (8x8x1/2") Cap Plate + 16"x16"x1" Base Plate 10EA@ bl 2 I & a2 g &
+(12"x14"x1") Cap Plate 10EAQ § < 8x10 26 S5.52, W12x19 = X b = E
*Box(W12)
Circle (W21) 10EA W14x22 (10) (14) W16x31 (14) * 1 (14) W16x31 (10)
*W14x132 (17'-0" H Approx.) 10EAQ 7 T
«Circle (W18) 70eac | B o | &l
*W14x132 (16'-6" H Approx.)+ (24"x24"x1-1/2") Base Plate w/ 2 1/8"@ Anchor2" Grouted  1.0EA E&y el Q9 < w o ';
3+ Circle (W18) 10.0EA /1/, & . _{_\'b | -
7L 4x4x3/8 + (2)5-1/2"x 7" x 1/4" Connection Plate @ 5'-0" CC Along WF BM w/ (2)  545F T[] AT s 4 N 1/84.22 -
2+ Circle (W16) 10EAQ S J [
= Circle (W21) 17.0EA W16x31 (14) 31 (20)
*W12x53 (13'-6" H Approx.) 1.0EAQ (14) T
*Circle (W24) 60EAQ g7 O N L
 HSS Bx4x5/16 (13-6" H) + (2) 6x4x3/8" Connection Plate+ (8" x 6" x 1/4”) Base Plate (A 1.0EA g,waNXVJ;%L‘gggER ) (7
*Circle (W14) N 126 0" =
+ HSS 6x6x5/16 (110" H) + (2) Bx4x3/8" Connection Plate GE=s2620
« Circle (W16)
HSS 5x3x1/4 (11'-0" H Approx.) + (2) 6x4x3/8" Connection Plate W16x31 (14) W16x31 (14)
ircle (W14)
HSS 5x5x3/8" Beam 204FT[] ,ll
e Circle (W12) <
L 6x4x3/8" Length w/ 13/16" Dia x 2-1/2" Vert. Slotted Holes §
Circle (W24) =
*W12x53 (40'-0" H Approx.)
- Box(W16) W16x31 (14) W16x31 (14
°*W12x53 (27'-3" H Approx.)
3"x18 GA. Metal Deck 10560.6 SQFT[_]
*W12x72 (14'-8" H) 10EA s
<*W18 Beam to Column Flange Connection S0EAD ! .
11 HSS3x3x5/16 18 FTH = o \s341/
< *W16 Beam to Column Flange Connection 1640 (1 b
W18 Beam to Column Web Connection W16x40 (18)
W12 Beam to Column Web Connection
+*W16 Beam to Column Web Connection =)
171 (2)L3x3x3/8x1'-6" @ 36" O.C. (1/55.06) o
2*W21 Beam to Column Web Connection X
*W21 Beam to Column Flange Connection g
*W24 Beam to Column Flange Connection Wbxd1 (14)
* (W16 & W24) Beam to Beam Connection = x31 (
*(W16 & W21) Beam to Beam Connection ©
* (W16 & W16) Beam to Beam Connection - ne
*(W12 & W16) Beam to Beam Connection 21510‘00 13
(W12 & W12) Beam to Beam Connection | =
*W24 Beam to Column Web Connection g
* (W16 & W18) Beam to Beam Connection W16x31(14) - I 10'-6" 270"
*(W18 & W18) Beam to Beam Connection TYP SITE r Y
(W14 & W21) Beam to Beam Connection RETAINING WALL
<*(W12 & W18) Beam to Beam Connection . S5.11/ 44 il o o 3
z < =
LEVEL 3 - FRAMING PLAN 18" = 10" Nt : N &
NG 12x193 2| wixig
)r_f b 55 (1 W18x35 (16)
C C_______ —  ___ 3N ——— -
P-07 .
2/84.12 /1\
—3/810.00——

ISSUE

ISSUE FOR BIDS SET
RELEASE DATE

12/20/23

REVISIONS
PROJECT NO. 22102
MADE BY Author
REVIEWED BY Checker

3RD FLOOR
FOUNDATION
AND FRAMING
PLAN

S52.03



(e 270
0 . o . - - 270

S3.11 -— v .
I;ﬂl o
e o —T B EN— HES
BENT BM
" L W) | ) _\s3s54)
-

O) ,
|
\ I 7 £
A \2 g I S (s6.13/ S| & o \ss11/
s3.02/ 2 4 ] S 4= *
% 3 [~ sm/ o\ = VAN FEL W
\ §5.25 | (c'x_m) s \s5.25/ \s5.25/ (o.) 25) ™
Nages”™ =
@ \*— W1865DRG \/\\. = 8‘1 W(18x65 DRG k W18x65DRG © .3’
& &=
\ A HEBNI 3
\ /;L 2—1—43154.12 . s521) Y z / EHQ(F:’ED eeo 3//4;18
) & ASCIA, ALIGN W/ EXT
\ S5.2 "I N = 3 = SHOPE WALL BELOW; g’EE
"\ i T &/ | S =
2 |[— | ————a- e
© N~
"’4‘° — ? - s /T
5 o
\ = I = . 2| $2.05/pLAN
\ | vALLEY [ :117!; = /"2 "\ ENLARGED
\ | 2 . LOW ROOF
\ \ngncorerer i &
o
1 B 72 R I o
T8 aeorc @ e [ ooy | |
@ \ L. | 7z 3377 3 4 A(Sﬁs;s/ [ WF STUB \C ‘_:TYP
. 3 | | . — 3-3"R.O.FOR
\ /l\ (7 \TYP@ROOF | ks '_! —V /(_ A(E:EE\SR% :ATCH~ @ ggL?E%?\lB?I’IF(‘)SNSB, PER Cso13

S6.11 STEP i \/\SIM \/\
\

o\ ~
T

\
85.257
—"

T

—
24x55 (ABV)
o6 ‘ ‘
DBLPURLINS | L
il s ) W18x35 DR# W18x35 DRG f .
] 7 bt b

be

[ e

maLpURLNG |

v \e T i
\% k_/! =
I\ 3 | ‘ o
\ A X / il DBL PURLINS all| ® DBL PURIANS DBL PURLINS /
1/510.0 = / Z i i 2| i —
% e i e 2z 3 D
2 A / | [ / = [ = S (s6.11/
7] 1 / 7 T
/ 7 sy
i S -

/——W18x35
8 g/ / ,
P Wisxes .w1axesoRGE" 18x65 DRG ~W18x65 DRG S/ wisxes bRe _-"__ W18x65 DRG S| W18x65DRG  ex ,/ ™ 1
DL ol .%EBF k] 5/ 3 5] " FTo e e
H ¥ 3] a) [ 2 T Pk ; ! BN 5354
\s6.11/ (qulW) g/ —\saz— 9/ Tss o \TJ

5 \ v: / | %\— \g/ ’0/ o <
T, £ s - ——— — " & 8
f o ib il SHAPED GLB 6 3/4x18

\\85.25/ // (/J\—)” / | T 21
2/54.21 = :
) T HOIST BM % 1 I WALL BELOW; SEE @
i ' y S6.12,
N~—

P @
SOUTH EAVE

146'-0"

i i

VALLEY|
w

260
-
\u
|
W/ 4x103
.y
sS40
19E
383
(20 BN
@
|
a
.
uiny
N
2
\i)—
£
T~ 0
n®
AN
2L

\ ] ] o
i / iz —

[*1 W18x35 Beam 221.8FT[ | \ \w // | / - = '»
4618 FT TR W18x35 W18x35 W18x35 wiges § " g
D \ J‘ {J ? f Q f ; f S BENT BEAM T\
/ / 2\ GLB P OF | | T ISSUE
| 524 ISSUE FOR BIDS SET

[*1 W18x65 Beam

["1 W18x97 Beam 80.8 FT | )\

[*1 W21x50 Beam 28.3FT_| \ \VEAY i o K i |

11 W24x103 Beam 3262 T = , — it i B o1 PO

L2 W1Bx86 Beam 170 P ] 2 g / e e B SR e e

["1 W24x68 Beam 18.5 FT_| % % i | : s 818 e[ P | @ 12120123
51.8 FT_] W\ : [ — - C G T @%/EX'CE@”"RT“ REVISIONS

Y= Sul | [1

53.52)

[1 W24x62 Beam
25.9FT \ T T
‘:’ = sa 50— b5 353/

8x50 DRGS

05

[’1 W24x55 Beam \ / : =
539 FT | \ ] = ey . s

1 T $3.5 N r A\VALLEY%ﬁt 5

i I

|

f

|
117 DRA [w1sfds DRG I
= s

["1 W16x76 Beam | o

I:I W24x117 Beam 21.0 FTD W24x55 e 24x62 DRG 2

[*1 W27x84 Beam 282 FT[ | \@ DRG ‘ 3 D§§ — — T T BENTBM

[t W18x50 Beam 84FT | i [~ ‘ B

[*1 W21x83 Beam 284 FT[ | \ \\ £ 5\7 e = O / \@ R o

I:I W24x76 Beam 54.3 FT‘:’ I — / NS §$EP & 5.4 MADE BY Author
* W18 Beam to Column Web Connection 5.0EA@ 25100 g // 3 £ g REVIEWED Y Crecker
*\W18 Beam to Column Flange Connection 4.0EAQ 3 5 b3
*Circle (W1 8) - Col. Web 18.0 EA \\l\\’% R / % E [sfope™ | _— EEQE?AGL%SI:\%A;;(? ROOF
*Circle (W18) - Col. Flange 240 EA \ @ / | L WalL. BELOW, @ FRAMING

6.0 EA. LAN @ 1/8" = 1'-0" \ : / ] PLAN

= Circle (W24) Flange
*Circle (W24) Web 6.0EAQ
*\W24 Beam to Column Web Connection

&

6.0EAQ s

=
e

i éa | wisxebpre W24x103 DRG &
r*?"'_} v FENT BM \s\a_u/
S 2 | 0 I

*\W27 Beam to Column Web Connection 10EAQ@ NN P N

* (W24) Special Moment Connection 11.0 EA R ) {2 - s £ :

*\W24 Beam to Column Flange Connection 1.0EAQ e ey ey e = e
10.0 EA :

*High Shear Connections




L 95 15/16" W
GLB
@ GLB (ABV) T GLB (ABV) ﬁL
W24x62 DRG (BLW) —L W10x33 (BLW) | i
w
ﬁg\ GLB GLB 0 .
N N Y
\s3s52/ z <
~— GLB ’
= GLB (ABV) S |
= W24x55 (BLW) C]
GLB 3 ‘
o — 1
] ‘
GLB il GLB W N =
2 YA [
$3.52 18352/ \§g_3.a’
NOTE: "GLB" INDICATES 5 1/8" x 18" GLB TYP UNO.
PARTIAL PLAN 114" = 1'-0"
ENLARGED HIGH ROOF \s2.05/ """
PLAN
96" ‘@
$352
N
2 3
2 ‘ :
g | g s 5 oLB
| 9 P 3 /a0y TYPAT
| 3 E s E— —.~_) NORTH
@ - GLB IABVY | i GLe \5\%‘} EAVE
1 I'| W24xss BENT 4 L=
/L o @c}“ < || 1 emeLw) P
Ay S, | dexieoie I | L]
\sas2/ 3| [5u8x18768 & z
S | L — x —
P [ R B e = e i
g ‘ | ISSUE
ll ISSUE FOR BIDS SET
F o] 7N RELEASE DATE
ST G o5/ 12120123
REVISIONS
NOTE: "GLB" INDICATES 5 1/8" x 18" GLB TYP UNO
PARTIAL PLAN 114" =1'-0"
ENLARGED LOW ROOF \s2.05/ """
PLAN —
PROJECT NO. 22102
MADE BY Author
REVIEWED BY Checker
S 2 ] 0 5

[t W10x15 Beam




WF TO WF ?EE TYP @ NORTH 4
S5.24, EAVES s

$6.12
GLB TO WF SEE TYP
AT VALLEY COND W R ——— =
!

SECTION (A 38" =10~

[*1(2) HSS 3.5 Dia x0.313 Expension Wire

156.8 FT

TYP @ GRID ’2\

LINE 7 . 7
$6.13
S613 =

120"
P e |

ISSUE
ISSUE FOR BIDS SET

RELEASE DATE

12/20/23
REVISIONS
PROJECT NO. 22102
MADE BY Author
REVIEWED BY Checker

SECTIONS

S3.11



BID RECAP
DIVISION DESCRIPTION MATERIAL COST LABOR COST MATERIAL TAX LABOR TAX TOTAL COST OVERHEADS PROFIT ADDI-I(-:?:I:VL) cosT TOTAL PRICE COST/ SF
GENERAL REQUIREMENTS uss - ussS - uss - uss - uss - uss - uss - uss = uss - Uss$ -
METALS USS 863,014.89 | USS 847,371.23 | USS - | uss - | USS 1,710,386.13 | USS 171,038.61 [ USS 171,038.61 | USS - | USS 2,052,463.35 | USS 85
TOTALS USS 863,015 | USS 847,371 | USS - | USS - | USS 1,710,386 | USS 171,039 | USS 171,039 | USS - |USS 2,052,463 | Us$ 85
BID SUMMARY MAN-LOADING AND SUPERVISION ANALYSIS
1 TOTAL MATERIAL COST USS 863,014.89 1 TOTAL MANHOURS WITH SUPERVISION 6,779
MATERIAL SALES TAX uss - 2 NUMBER OF MAN-DAYS 847.37
JOB EXPENSE 3 MAN LOAD 5
2 TOTAL LABOR COST UsS 847,371.23 4 JOURNEYMAN RATE 3
LABOR TAX uss - 5 SUPERVISOR RATE 1
3 TOTAL COST US$1,710,386.13 6 UNSKILLED LABOR RATE 1
OVERHEADS @ 10% USS 171,038.61 7 COMPOSITE LABOR RATE uss -
PROFIT @ 10% USS 171,038.61 8 WAGE RATE uss$ 125.00
4 TOTAL COST W/ OVERHEADS + PROFIT US$2,052,463.35
BOND & INSURANCE uss - INSERT VALUES IN YELLOW HIGHLIGHTED CELLS WHERE APPLICABLE
PROJECT SUPERVISION & PROJECT MANAGEMENT uss -
SUBMITTALS, SAMPLES, SHOP DRAWINGS, SITE SAFETY PLAN, ETC. uss - Project GSF: 24210 SF
TEMPORARY FACILITIES & CONTROLS us$ -
PROJECT SCHEDULE (Primavera P3 or P6) uss -
OFFICE OVERHEADS uss =
CLOSEOUT PROCEDURES uss =
PERMITS uss =
ALLOWANCES uss =
MOBILIZATION / DEMOBILIZATION uss =
SUB-CONTRACTS uss -
BOND PREMIUM uss -
5 BASE BID PRICE US$2,052,463.35




GENERAL REQUIREMENTS SUBGROUP WORK

DIVISION 01 00 00

GENERAL REQUIREMENTS

uss

ok sk ok ok ok sk sk sk kokkok ok ok K| LODGE PROJECT COST UssS 1,710,386.13
B I D s M @ R T 11603 SNOWPEAK **#*##kkkkkdrhrhrs Cp *bkhrhs OVERHEAD COST ussS 171,038.61
?gggfalcones Drive, Suite 100, Austin, TX Project Scope: Steel Structure PROFIT COST uss 171,038.61
projects@bidsmartestimates.com Addendum: N/A ADDITIONAL COST (If Any) ussS -
+17373076620 Date: Monday, October 28, 2024 TOTAL BID COST USS 2;052;463-35
:II:)'. DWG. NO. DETAIL NO. csl NO. DESCRIPTION QUANTITY UNIT WASTAGE % V&;:T%E UNIT (';')‘;TTER'AL M‘(\:TOE:T'AL MAN HOUR RATE UNIT MANHOURS | TOTAL MANHOURS MANHOURS COST -

SUBTOTAL MATERIAL ussS SUBTOTAL LABOR ussS - SUBTOTAL HOURS 0.00 UssS -
A 0 R 0 BGROUP WOR uss$ 125.00
D 0 D5 00 00 A
051200 STRUCTURAL STEEL FRAMING
Building
Hss Members
Column
1 Hss 5X3X1/4 (11'-0" H Approx.) 269 LBS 10% 295 USS1.83 USS540.73 USS125.00 0.02 4,73 USS590.96 USS1,131.70
2 Hss 6X4X5/16 (13'-6" H) 258 LBS 10% 283 USS1.83 USS518.51 USS$125.00 0.02 4.53 USS566.68 USS1,085.18
3 Hss 6X4X5/16 (15'-0" H) 286 LBS 10% 315 USS1.83 USS576.12 USS125.00 0.02 5.04 USS629.64 USS1,205.76
4 Hss 6X4X5/16 (15'-6" H) 296 LBS 10% 325 USS1.83 USS595.32 USS$125.00 0.02 5.21 USS$S650.63 USS1,245.95
5 \I;IVS/S 36/)(86,,)(3{3883,[1 6"H) 219 LBS 10% 241 US$1.83 US$441.69 US$125.00 0.02 3.86 US$482.72 US$924.42
6 Hss 6X6X3/8" (25'-6" H) 487 LBS 10% 535 USS$S1.83 USS$S979.41 USS$125.00 0.02 8.56 USS$1,070.39 USS2,049.79
7 Hss 6X6X5/16 (11'-0" H) 210 LBS 10% 231 USS1.83 USS422.49 USS$125.00 0.02 3.69 USS461.74 UsS884.22
8 Hss 8X8X3/8 (10'-6" H) 396 LBS 10% 435 USS$1.83 USS$796.63 USS$125.00 0.02 6.97 USS$870.64 USS1,667.27
9 \I/IVS/S 38/)(88,.)( S(:Bgtz “0" H Approx) 905 LBS 10% 995 US$1.83 US$1,820.88 US$125.00 0.02 15.92 US$1,990.03 US$3,810.91
10 Hss 8X8X5/8 (10'-6" H) 623 LBS 10% 685 USS1.83 USS1,253.82 USS125.00 0.02 10.96 USS1,370.29 USS2,624.11
11 Hss 8X8X5/8 (11'-0" H) 653 LBS 10% 718 USS1.83 USS$1,313.52 USS$125.00 0.02 11.48 USS1,435.54 USS2,749.07
12 Hss 9X9X5/8" (10'-6" H) 804 LBS 10% 884 USS1.83 USS1,618.42 USS125.00 0.02 14.15 USS1,768.77 USS3,387.19
Beams
13 (2) Hss 3.5 Dia x 0.313 Expansion Wire 15 LBS 10% 17 USS1.83 USS30.51 USS125.00 0.02 0.27 USS33.35 USS63.86
14 Hss 12X6X1/4 Beam 1497 LBS 10% 1647 USS1.83 USS3,014.37 USS$125.00 0.02 26.36 USS3,294.40 USS6,308.77
15 Hss 2X2X5/16 Cont. a0 LBS 10% 99 USS1.83 USS$180.69 USS125.00 0.02 1.58 USS197.47 USS378.16
16 Hss 5X5X3/8" Beam 450 LBS 10% 495 USS1.83 USS905.57 USS$S125.00 0.02 7.92 USS$989.69 USS1,895.26
17 HSS 3x3x5/16 Beam 125 LBS 10% 138 USS$1.83 USS252.38 USS$125.00 0.02 2.21 USS$275.82 USS$528.20
18 HSS14x6x1/2 1085 LBS 10% 1193 USS1.83 USS2,183.96 USS$S125.00 0.02 19.09 USS2,386.85 USS4,570.81
Flange Members
Column
19 W12X53 (13'-6" H Approx.) 2147 LBS 10% 2361 USS$1.83 USS$4,320.90 USS$125.00 0.02 37.78 USS4,722.30 USS9,043.20
20 W12X53 (15'-0" H) 795 LBS 10% 875 USS1.83 USS1,600.34 USS125.00 0.02 13.99 USS1,749.00 USS3,349.34
21 W12X53 (15'-6" H) 822 LBS 10% 904 USS1.83 USS1,653.68 USS$125.00 0.02 14.46 USS1,807.30 USS3,460.98
22 W12X53 (18'-2" H) 959 LBS 10% 1055 USS1.83 USS1,931.07 USS125.00 0.02 16.88 USS2,110.46 USS4,041.53
23 W12X53 (21'-9" H) 2306 LBS 10% 2536 USS1.83 USS4,640.97 USS$125.00 0.02 40.58 USS5,072.10 USS9,713.07
24 W12X53 (23'-0" H) 1219 LBS 10% 1341 USS$1.83 USS$2,453.85 USS$125.00 0.02 21.45 USS$2,681.80 USS5,135.65
25 W12X53 (27'-3" H Approx.) 1444 LBS 10% 1589 USS1.83 USS2,907.28 USS$S125.00 0.02 25.42 USS3,177.35 USS6,084.63
26 W12X53 (37'-0" H Approx.) 1961 LBS 10% 2157 USS1.83 USS3,947.49 USS$125.00 0.02 34.51 USS4,314.20 USS8,261.69
27 W12X53 (40'-0" H Approx.) 2120 LBS 10% 2332 USS1.83 USS4,267.56 USS125.00 0.02 37.31 USS4,664.00 USS8,931.56
28 W12X72 (10'-0" H) 720 LBS 10% 792 USS$S1.83 USS$1,449.36 USS$125.00 0.02 12.67 USS1,584.00 USS3,033.36
29 W12X72 (11'-8" H) 864 LBS 10% 950 USS1.83 USS1,739.23 USS125.00 0.02 15.21 USS1,900.80 USS3,640.03
30 W12X72 (12'-0" H) 2592 LBS 10% 2851 USS1.83 USS5,217.70 USS$125.00 0.02 45.62 USS5,702.40 USS$10,920.10
31 W12X72 (14'-8" H) 1056 LBS 10% 1161 USS1.83 USS2,124.76 USS125.00 0.02 18.58 USS2,322.14 USS4,446.91
32 W12X72 (15'-0" H) 2160 LBS 10% 2376 USS1.83 USS4,348.08 USS$125.00 0.02 38.02 USS4,752.00 USS9,100.08
33 W12X72 (17'-3" H Approx.) 1242 LBS 10% 1366 USS1.83 USS2,500.15 USS125.00 0.02 21.86 USS2,732.40 USS5,232.55
34 W12X72 (17'-6" H Approx.) 1260 LBS 10% 1386 USS1.83 USS2,536.38 USS$125.00 0.02 22.18 USS2,772.00 USS5,308.38
35 W12X72 (18'-3" H Approx.) 1314 LBS 10% 1445 USS$S1.83 USS2,645.08 USS$125.00 0.02 23.13 USS$2,890.80 USS5,535.88
36 W12X72 (19'-9" H Approx.) 1422 LBS 10% 1564 USS1.83 USS2,862.49 USS$S125.00 0.02 25.03 USS3,128.40 USS5,990.89
37 W12X72 (23'-0" H Approx.) 3312 LBS 10% 3643 USS1.83 USS$6,667.06 USS$125.00 0.02 58.29 USS7,286.40 USS$S13,953.46
38 W12X72 (23'-4" H Approx.) 1680 LBS 10% 1848 USS1.83 USS3,381.36 USS125.00 0.02 29.56 USS3,695.47 USS7,076.83
39 W12X72 (38'-2" H) 2743 LBS 10% 3018 USS1.83 USS5,522.06 USS$125.00 0.02 48.28 USS6,035.04 USS11,557.10
40 W12X96 (15'-3" H) 1464 LBS 10% 1610 USS1.83 USS2,947.03 USS125.00 0.02 25.77 USS3,220.80 USS6,167.83
41 W12X96 (40'-0" H) 3840 LBS 10% 4224 USS1.83 USS7,729.92 USS$125.00 0.02 67.58 USS8,448.00 USS16,177.92
42 W14X132 (15'-0" H) 1980 LBS 10% 2178 USS1.83 USS3,985.74 USS125.00 0.02 34.85 USS4,356.00 USS8,341.74
43 W14X132 (15'-3" H) 2013 LBS 10% 2214 USS1.83 USS4,052.17 USS$S125.00 0.02 35.43 USS4,428.60 USS8,480.77
44 W14X132 (16'-6" H Approx.) 2178 LBS 10% 2396 USS$1.83 USS4,384.31 USS$125.00 0.02 38.33 USS4,791.60 USS$9,175.91
45 W14X132 (17'-0" H Approx.) 2244 LBS 10% 2468 USS1.83 USS4,517.17 USS$S125.00 0.02 39.49 USS4,936.80 USS9,453.97
46 W14X132 (18'-0" H) 2376 LBS 10% 2614 USS1.83 UsS4,782.89 USS125.00 0.02 41.82 USS5,227.20 USS10,010.09
47 W14X132 (27'-0" H) 3564 LBS 10% 3920 USS1.83 USS7,174.33 USS125.00 0.02 62.73 USS7,840.80 USS15,015.13
48 W14X132 (35'-6" H Approx.) 4686 LBS 10% 5155 USS1.83 USS$9,432.92 USS$125.00 0.02 82.47 USS$10,309.20 USS$S19,742.12
49 W14X132 (39'-6" H) 5214 LBS 10% 5735 USS1.83 USS10,495.78 USS125.00 0.02 91.77 USS11,470.80 USS21,966.58
Beams
50 W10x15 Beam 67 LBS 10% 73 USS1.83 USS134.07 USS125.00 0.02 1.17 USS146.52 USS$280.59
51 W10x33 Beam 313 LBS 10% 344 USS1.83 USS629.75 USS$125.00 0.02 5.51 USS$S688.25 USS1,317.99
52 W12x14 Beam 331 LBS 10% 364 USS$1.83 USS$S666.50 USS$125.00 0.02 5.83 USS$728.42 USS1,394.92
53 W12x19 Beam 7257 LBS 10% 7983 USS1.83 USS14,608.82 USS$S125.00 0.02 127.73 USS$S15,965.93 USS30,574.75
54 W12x26 Beam 192 LBS 10% 212 USS1.83 USS387.30 USS$125.00 0.02 3.39 USS$S423.28 USS$S810.58
55 W14x22 Beam 2162 LBS 10% 2378 USS1.83 USS4,351.10 USS125.00 0.02 38.04 USS4,755.30 USS9,106.40
56 W16x31 Beam 36781 LBS 10% 40459 USS$1.83 USS74,039.91 USS$125.00 0.02 647.34 USS$80,917.94 USS$154,957.85
57 W16x40 Beam 1818 LBS 10% 2000 USS1.83 USS3,660.44 USS125.00 0.02 32.00 USS4,000.48 USS7,660.92
58 W16x50 Beam 2706 LBS 10% 2976 USS1.83 USS5,446.17 USS$125.00 0.02 47.62 USS5,952.10 USS11,398.27
59 W16x67 Beam 3619 LBS 10% 3981 USS1.83 USS7,284.38 USS125.00 0.02 63.69 USS7,961.07 USS15,245.46
60 W16x76 Beam 1972 LBS 10% 2169 USS1.83 USS$3,970.04 USS$125.00 0.02 34.71 USS4,338.84 USS8,308.88
61 W16x89 Beam 4817 LBS 10% 5298 USS1.83 USS9,695.98 USS125.00 0.02 84.77 USS10,596.70 USS20,292.67
62 W18x35 Beam 18627 LBS 10% 20489 USS1.83 USS37,495.45 USS$S125.00 0.02 327.83 USS$S40,978.63 USS78,474.08
63 W18x50 Beam 3546 LBS 10% 3900 USS$1.83 USS$7,137.09 USS$125.00 0.02 62.40 USS$7,800.10 UsS$S14,937.19
64 W18x55 Beam 2499 LBS 10% 2749 USS1.83 USS5,029.78 USS$S125.00 0.02 43,98 USS5,497.03 USS$S10,526.81
65 W18x65 Beam 34697 LBS 10% 38167 USS$1.83 USS$69,845.06 USS$125.00 0.02 610.67 USS$76,333.40 USS$146,178.46
66 W18x86 Beam 14674 LBS 10% 16142 USS1.83 USS29,539.12 USS125.00 0.02 258.27 USS32,283.20 USS61,822.32
67 W18x97 Beam 7840 LBS 10% 8623 USS$1.83 USS15,780.99 USS$125.00 0.02 137.98 USS$S17,246.99 USS33,027.98
68 W21x50 Beam 18312 LBS 10% 20143 USS1.83 USS36,862.06 USS125.00 0.02 322.29 USS40,286.40 USS77,148.46
69 W21x62 Beam 6443 LBS 10% 7087 USS1.83 USS12,969.84 USS$S125.00 0.02 113.40 USS$S14,174.69 USS27,144.53
70 W21x83 Beam 2353 LBS 10% 2588 USS1.83 USS4,736.69 USS125.00 0.02 41.41 USS5,176.71 USS9,913.40
71 W24x103 Beam 34627 LBS 10% 38089 USS1.83 USS69,703.23 USS$S125.00 0.02 609.43 USS$76,178.39 USS$S145,881.61
72 W24x104 Beam 2027 LBS 10% 2230 USS$1.83 USS$4,080.27 USS$125.00 0.02 35.67 USS4,459.31 USS$8,539.58
73 W24x117 Beam 5441 LBS 10% 5985 USS1.83 USS10,951.73 USS$S125.00 0.02 95.75 USS$S11,969.10 USS22,920.83
74 W24x55 Beam 2851 LBS 10% 3136 USS1.83 USS5,739.47 USS125.00 0.02 50.18 USS6,272.64 USS12,012.11
75 W24x62 Beam 1462 LBS 10% 1608 USS1.83 USS2,943.17 USS125.00 0.02 25.73 USS3,216.58 USS6,159.74
76 W24x68 Beam 13224 LBS 10% 14546 USS$1.83 USS26,619.83 USS$125.00 0.02 232.74 USS$29,092.71 USS55,712.54
77 W24x76 Beam 6098 LBS 10% 6708 USS1.83 USS12,275.76 USS125.00 0.02 107.33 USS13,416.13 USS25,691.89
78 W27x84 Beam 2370 LBS 10% 2607 USS$S1.83 USS$4,770.09 USS$125.00 0.02 41.71 USS5,213.21 USS9,983.29
Deck
79 3"x18 GA. Metal Deck 14683 SF 10% 16151 USS5.40 USS87,215.65 USS$125.00 0.01 177.66 USS$S22,207.69 USS$109,423.34
80 L3X3X3/8" 186 LBS 10% 205 USS1.83 USS374.25 USS125.00 0.02 3.27 USS409.02 USS783.27
81 (2) L3X3X3/8x 18" 3200 LBS 10% 3520 USS1.83 USS6,441.54 USS$S125.00 0.02 56.32 USS7,039.94 USS13,481.48
82 (2)L3x3x3/8x1'-6" @ 36" O.C. (1/55.06) 857 LBS 10% 942 USS$1.83 UssS1,724.77 USS$125.00 0.02 15.08 USS1,884.99 USS3,609.76
83 (2)L3x3x3/8x1'-6" @ 36" O.C. (1/55.06) 386 LBS 10% 425 USS1.83 USS777.35 USS$125.00 0.02 6.80 USS$S849.56 USS1,626.91
84 L3x3x3/8 1006 LBS 10% 1107 USS1.83 USS2,025.56 USS$125.00 0.02 17.71 USS2,213.72 USS4,239.28
85 L 4X4X1/4" 69 LBS 10% 76 USS1.83 USS139.21 USS125.00 0.02 1.22 USS152.14 USS291.35
86 L 4X4X3/8" 1226 LBS 10% 1348 USS1.83 USS2,467.51 USS$125.00 0.02 21.57 USS2,696.74 USS5,164.25
87 \Llsj(g)/(zngiax4-3/4" Embed Hilti Kb-Tz @ 32" O.C 1644 LBS 10% 1808 US$1.83 USS$3,308.67 US$125.00 0.02 28.93 USS$3,616.03 USS$6,924.71
88 L 6X4X3/8" 30 LBS 10%
W/ 13/16" Dia 2-1/2" Vert. Slotted Holes o 33 US$1.83 US$59.92 US$125.00 0.02 0.52 US$65.49 US$125.40
Plates
89 (16x6x1/4) Knife Plate 20 LBS 10% 22 USS1.83 UsS41.07 USS$125.00 0.02 0.36 USsS44.88 USS$85.95
90 Knife Plate 3/16" 14 LBS 10% 15 USS1.83 USS28.30 USS125.00 0.02 0.25 USS30.93 USS59.23
91 (14x14x1-1/2) Base Plate W/ 2 1/8"® Anchor2" Grouted 28 LBS 10% 31 USS1.83 USS55.94 USS$125.00 0.02 0.49 USS61.14 USS117.08
92 (22x22x1-1/2) Base Plate W/ 2 1/8"® Anchor2" Grouted 69 LBS 10% 75 USS$S1.83 Uss138.15 USS$125.00 0.02 1.21 USS$150.99 USS$S289.14
93 (24x24x1-1/2) Base Plate W/ 2 1/8"® Anchor2" Grouted 408 LBS 10% 449 USS1.83 USS822.01 USS$S125.00 0.02 7.19 USS898.37 USS1,720.38
94 (12x6x1/4) Web Filler Bend Plate 61 LBS 10% 67 USS1.83 USS123.20 USS$125.00 0.02 1.08 Uss134.64 USS257.84
95 (14x14x1-1/2) Base Plate W/ 2 1/8"® Anchor2" Grouted 139 LBS 10% 153 USS1.83 USS279.71 USS125.00 0.02 2.45 USS305.69 USS585.40
96 (14x14x3/4) Emended Plate W/ W/ 3"@ Air Hole Centered 250 LBS 10% 275 USS$1.83 USS503.41 USS$125.00 0.02 4.40 USS550.18 USS1,053.59
97 (18x13x1-1/2) Base Plate W/ 2 1/8"® Anchor2" Grouted 465 LBS 10% 511 USS1.83 USS$935.08 USS125.00 0.02 8.18 USS1,021.94 USS1,957.02
98 (2) (6x6x 18x3/4" ) Connection Plate 322 LBS 10% 354 USS1.83 UsS647.34 USS$125.00 0.02 5.66 USS$S707.48 USS1,354.82
99 (22x22x1-1/2) Base Plate W/ 2 1/8"® Anchor2" Grouted 1441 LBS 10% 1585 USS1.83 USS2,901.20 USS125.00 0.02 25.37 USS3,170.71 USS6,071.90
100 (24x24x1-1/2) Base Plate W/ 2 1/8"® Anchor2" Grouted 245 LBS 10% 270 USS1.83 USS493.21 USS$125.00 0.02 4.31 USS$S539.02 USS1,032.23
101 (4) (2x2x1/4) Washer Plate W/ 3/4" Dia Bolts 16 LBS 10% 17 USS$1.83 USS31.56 USS$125.00 0.02 0.28 USS34.50 USS66.06
102 (4) Plate (6x8x1/2) @ CI Col 490 LBS 10% 539 USS1.83 USS985.56 USS$125.00 0.02 8.62 USS1,077.12 USS2,062.68
103 I/I/?I/I/?;IIL?ﬁ;zISaEEGn:Z?\ZSS Bolts 41 LBS 10% 45 US$1.83 US$82.13 US$125.00 0.02 0.72 US$89.76 US$171.89
104 I/I/?I/I/?;IIL?ﬁ;zISaEEGn:Z?\ZSS Bolts 48 LBS 10% 53 US$1.83 US$96.42 US$125.00 0.02 0.84 US$105.38 US$201.80
105 I:/‘/Iﬁ/i’;lé ‘:IPE::E:STE;@? ddee d3|360| o 56 LBS 10% 61 US$1.83 US$111.84 US$125.00 0.02 0.98 US$122.23 US$234.07
106 (2) (6x4x3/8) Connection Plate 20 LBS 10% 22 USS$1.83 UssS41.07 USS$125.00 0.02 0.36 UssS44.88 USS$S85.95
107 (8x6x1/4) Base Plate (Assumed) 10 LBS 10% 11 USS1.83 USS20.53 USS125.00 0.02 0.18 USS22.44 uss42.97
108 (16x16x1) Base Plate 73 LBS 10% 80 USS$1.83 USS146.14 USS$125.00 0.02 1.28 USS$159.72 USS305.86
109 (6x12x3/8) Base Plate W/ 3/8" Dia Bolt 8 LBS 10% 8 USS1.83 USS15.40 USS125.00 0.02 0.13 USS16.83 USS32.23
110 (2) 6X4X3/8" Connection Plate 5 LBS 10% 6 USS1.83 USsS$10.07 USS$125.00 0.02 0.09 USS11.00 Uss21.07
111 (12x14x1) Cap Plate 48 LBS 10% 52 USS1.83 USS95.90 USS125.00 0.02 0.84 USS104.81 USS200.71
112 (8x8x1/2) Cap Plate 9 LBS 10% 10 USS1.83 USS18.26 USS$125.00 0.02 0.16 USS$S19.95 USS38.21
113 (8x8x3/8) Cap Plate 20 LBS 10% 22 USS1.83 uUsSS41.07 USS125.00 0.02 0.36 USS44.88 USS85.95
114 (8x8x5/8) Cap Plate 23 LBS 10% 25 USS1.83 USS45.65 USS$125.00 0.02 0.40 USS$S49.90 USS$95.55
115 (9x9x5/8) Cap Plate 14 LBS 10% 16 USS$1.83 USS$28.90 USS$125.00 0.02 0.25 USS31.59 USS$60.49
116 (12X12X1/2) Cap Plate 612 LBS 10% 674 USS1.83 USS1,232.56 USS$125.00 0.02 10.78 USS1,347.06 USS2,579.62
117 (14X14X1/2) Cap Plate 195 LBS 10% 214 USS$1.83 USS$S391.59 USS$125.00 0.02 3.42 UsS427.97 USS$819.55
118 (3x3x 3/8") Stiffener Plate @ 24" O.C 38 LBS 10% 41 USS1.83 USS75.51 USS125.00 0.02 0.66 USS82.52 USS158.03
119 I/%/I/S(S/gz/ﬁzxml{: ‘IBoft‘:”C;e:,.“gg Plate. @ 5-0" Cc Along Wf Bm 24 LBS 10% 27 US$1.83 US$48.94 US$125.00 0.02 0.43 US$53.49 US$102.42
Roof Dots
120 (20x15x3/8") - Beam to Column Web Connection w/(5) 7/8" Dia Bolts 1340 LBS 10% 1474 USS1.83 USS2,697.02 USS125.00 0.02 23.58 USS2,947.56 USS5,644.58
121 (21x20x3/8") - - Beam to Column Web Connection w/(5) 7/8" Dia Bolts 536 LBS 10% 590 USS1.83 USS$1,078.81 USS$125.00 0.02 9.43 USS1,179.02 USS2,257.83
Single Dot
122 (11x20x1/4") - Connection Plate w/(3) 7/8" Dia Bolts 62 LBS 10% 69 USS1.83 USS125.53 USS$125.00 0.02 1.10 UsS$S137.19 USS262.72
123 (9x20x1/4") - Connection Plate w/(3) 7/8" Dia Bolts 102 LBS 10% 112 USS$1.83 USS$205.49 USS$125.00 0.02 1.80 USS$S224.58 UsS$S430.06
124 (13x20x3/8") - Connection Plate w/(4) 7/8" Dia Bolts 221 LBS 10% 243 USS1.83 USS445.28 USS$S125.00 0.02 3.89 USS486.64 USS$S931.92
125 (15x20x3/8") - Connection Plate w/(5) 7/8" Dia Bolts 383 LBS 10% 421 USS$1.83 USS770.58 USS$125.00 0.02 6.74 UsSS842.16 USS1,612.74
126 (21x20x3/8") - Connection Plate w/(6) 7/8" Dia Bolts 223 LBS 10% 246 USS1.83 USS$S449.50 USS125.00 0.02 3.93 USS491.26 USS$940.76
127 (18x20x3/8") - Connection Plate w/(5) 7/8" Dia Bolts 153 LBS 10% 168 USS$1.83 USS308.23 USS$125.00 0.02 2.69 USS$S336.86 USS645.09
Double Dot
128 (13x32x3/8") - Connection Plate w/(4) 7/8" Dia Bolts 44 LBS 10% 49 USS1.83 USS$89.06 USS$125.00 0.02 0.78 USS97.33 USS186.38
129 (15x32x3/8") - Connection Plate w/(5) 7/8" Dia Bolts 357 LBS 10% 393 USS1.83 USS$719.20 USS125.00 0.02 6.29 USS786.02 USS1,505.22
130 (18x32x3/8") - Connection Plate w/(5) 7/8" Dia Bolts 1041 LBS 10% 1145 USS1.83 USS2,096.04 USS$125.00 0.02 18.33 USS2,290.75 USS4,386.79
131 (21x32x3/8") - Connection Plate w/(6) 7/8" Dia Bolts 429 LBS 10% 472 USS1.83 USS$S863.09 USS125.00 0.02 7.55 USS943.27 USS1,806.37
Beam to Beam Connections
132 (9x20x3/8") (W12 & W16) Beam to Beam Connection w/(3) 7/8" Dia Bolts 995 LBS 10% 1095 USS$1.83 USS$2,003.50 USS$125.00 0.02 17.52 USS2,189.62 USS4,193.11
133 (11x20x3/8")(W14 & W16) Beam to Beam Connection w/(3) 7/8" Dia Bolts 211 LBS 10% 232 USS1.83 USS423.76 USS$S125.00 0.02 3.70 USS$S463.12 USS886.88
134 (13x20x3/8")(W16 & W21) Beam to Beam Connection w/(4) 7/8" Dia Bolts 1853 LBS 10% 2038 USS$1.83 USS3,729.18 USS$125.00 0.02 32.60 USS4,075.61 USS7,804.79
135 (15x20x3/8")(W18 & W21) Beam to Beam Connection w/(5) 7/8" Dia Bolts 223 LBS 10% 246 USS1.83 USS449.50 USS$125.00 0.02 3.93 USS491.26 USS940.76
136 (21x20x3/8")(W24 & W27) Beam to Beam Connection w/(6) 7/8" Dia Bolts 45 LBS 10% 49 USS1.83 USS$89.90 USS$125.00 0.02 0.79 USS98.25 USS$S188.15
Beam to Column Connection
137 (13x20x3/8")W16 Beam to Column Flange Connection w/(4) 7/8" Dia Bolts 304 LBS 10% 335 USS1.83 USS612.25 USS$125.00 0.02 5.35 USS$S669.13 USS1,281.38
138 (15x20x3/8")W18 Beam to Column Flange Connection w/(5) 7/8" Dia Bolts 1244 LBS 10% 1369 USS1.83 USS2,504.37 USS125.00 0.02 21.90 USS2,737.02 USS5,241.39
139 (18x20x3/8")W21 Beam to Column Flange Connection w/(5) 7/8" Dia Bolts 383 LBS 10% 421 USS1.83 USS$770.58 USS125.00 0.02 6.74 uss842.16 USS1,612.74
140 (20x20x3/8")W24 Beam to Column Web Connection w/(6) 7/8" Dia Bolts 468 LBS 10% 515 USS$1.83 USS941.96 USS$125.00 0.02 8.24 USS$1,029.47 USS$1,971.43
141 (21x20x3/8")W24 Beam to Column Flange Connection w/(6) 7/8" Dia Bolts 134 LBS 10% 147 USS1.83 USS269.74 USS$125.00 0.02 2.36 USS$S294.80 USS564.55
142 (24x20x3/8")W27 Beam to Column Web Connection w/(6) 7/8" Dia Bolts 45 LBS 10% 49 USS1.83 USS$89.91 USS$125.00 0.02 0.79 USS98.27 USS$S188.18
143 (9%x20x1/4")W12 Beam to Column Flange Connection w/(3) 7/8" Dia Bolts 26 LBS 10% 28 USS1.83 USS51.38 USS$125.00 0.02 0.45 USS56.15 USS107.53
144 (9x20x3/8")W12 Beam to Column Web Connection w/(3) 7/8" Dia Bolts 19 LBS 10% 21 USS1.83 USS38.53 USS$125.00 0.02 0.34 UsS42.11 USS80.65
Box Connection
145 (144 SF x 3/8") Shaped Plate Connection @ WF Girder Bottom Flange 260 LBS 10% 286 USS1.83 USS523.92 USS$125.00 0.02 4.58 USS572.59 USS1,096.52
146 (13x8x3/8") Shear Plate Connection @ WF Girder Bottom Flange 122 LBS 10% 134 USS1.83 USS$S244.90 USS125.00 0.02 2.14 USS267.65 USS512.55
147 (9x8x3/8")Shear Plate Connection @ WF Girder Bottom Flange 38 LBS 10% 42 US$1.83 US$77.00 US$125.00 0.02 0.67 US$84.15 US$161.15
Thermal Break Connection 0.02
148 (24x24x1/2) 1/2 Continuity Plate 1062 LBS 10% 1168 USS1.83 USS2,137.22 USS125.00 0.02 18.69 USS2,335.76 USS4,472.98
149 (24x24x3/8") Thermal Break Connection Plates w/(4) 7/8" Bolts 61 LBS 10% 67 USS1.83 USS123.30 USS$S125.00 0.02 1.08 USS134.75 USS$S258.05
150 (21x20x3/8") 3/8 Thermal Break Connection Plates w/(4) 7/8" Bolts 536 LBS 10% 590 USS$1.83 USS$1,078.81 USS$125.00 0.02 9.43 USS$1,179.02 USS2,257.83
151 1" Th. Fabreeka Thermal Break Pad with Washers 13 EA 0% 13 uss44.35 USS576.55 USS125.00 0.42 5.47 USS684.13 USS1,260.68
WF Special Moment Frame Connection
152 (W24) Special Moment Connection 15 EA 0% 15 US$10.98 US$164.70 US$125.00 0.38 5.72 US$714.38 US$879.08
High Shear Connection
153 High Shear Connections 15 EA 0% 15 USS$9.32 USS139.80 USS$125.00 0.38 5.72 USS714.38 USS854.18
Misc.
Brb1A: Diagonal Bracing (18.08 LF)
154 -2.5 In 2 Nominal Core Pl Area 1179 LBS 10% 1297 US$1.83 US$2,373.33 US$125.00 0.02 20.75 USS$2,593.80 US$4,967.13
- 105K Design Brace Yeld Force
- 1.41 Equivalent 9 Stiffness
Brb4A: Diagonal Bracing (30.02 LF)
155 -2.5 In 2 Nominal Core Pl Area 994 LBS 10% 1093 US$1.83 US$2,000.92 US$125.00 0.02 17.49 US$2,186.80 US$4,187.72
- 105K Design Brace Yeld Force
- 1.45 Equivalent 9 Stiffness
Brb6A: Diagonal Bracing (32.81 LF)
156 -2.5 In 2 Nominal Core Pl Area 1057 LBS 10% 1163 USS$1.83 US$2,127.74 US$125.00 0.02 18.60 US$2,325.40 US$4,453.14
- 105K Design Brace Yeld Force
- 1.41 Equivalent 9 Stiffness
Brb6C: Diagonal Bracing (22.13 SF)
157 -2.5 In 2 Nominal Core Pl Area 1057 LBS 10% 1163 US$1.83 US$2,127.74 US$125.00 0.02 18.60 USS$2,325.40 USS$4,453.14
- 105K Design Brace Yeld Force
- 1.41 Equivalent 9 Stiffness
158 _St/lf;?r’s;.F;Ii""ztee(iosrf')D'Tahgi‘c’E:ésBsri‘;':fme 41 898 LBS 10% 988 US$1.83 US$1,808.20 US$125.00 0.02 15.81 US$1,976.17 US$3,784.37
159 1/2" Diax4" Headed Studs @ 36" O.C 298 EA 0% 298 USS2.48 USS737.88 USS$125.00 0.06 18.15 USS2,268.69 USS3,006.57
160 Shear Stud for Flange Beams 1832 EA 0% 1832 USS6.36 USS11,651.52 USS125.00 0.06 117.25 USS14,656.00 USS26,307.52
Trash Enclosure
161 Hss 6X6X1/2" (12'-0" H) 1692 LBS 10% 1861 USS$1.83 USS$3,405.03 USS$125.00 0.02 29.77 USS3,721.34 USS7,126.37
162 Hss 6X6X1/2" (14'-0" H) 1973 LBS 10% 2171 USS1.83 USS3,972.53 USS$S125.00 0.02 34.73 USS4,341.57 USS8,314.10
163 W8X18 Beam 773 LBS 10% 850 US$1.83 US$1,556.25 US$125.00 0.02 13.61 US$1,700.82 US$3,257.07
164 W8X15 Beam 380 LBS 10% 418 USS1.83 USS764.84 USS$125.00 0.02 6.69 USS$S835.89 USS$1,600.73
165 %’w;:hirIP?:f:SP;aEfni;a;: d3§0|ts 163 LBS 10% 180 US$1.83 US$328.76 US$125.00 0.02 2.87 US$359.30 US$688.07
166 (4X4X 14x 3/8") Bend Plate Connection 71 LBS 10% 79 USS1.83 USS143.86 USS125.00 0.02 1.26 USS157.23 USS301.09
167 (5X5X 16x 3/8") Bend Plate Connection 323 LBS 10% 356 USS1.83 USS$650.58 USS125.00 0.02 5.69 USS711.02 USS1,361.60
168 (1-1/2x 10x3/16") Steel Plate 1 LBS 10% 1 USS1.83 USS1.57 USS$125.00 0.02 0.01 USS$1.72 USS3.29
169 (1-1/2x 3/16") Steel Plate 9 LBS 10% 10 USS1.83 USS18.24 USS125.00 0.02 0.16 USS19.93 USS38.17
170 3x16 Ga N-24 Metal Deck 98 SF 10% 108 uss7.77 USS840.60 USS$125.00 0.01 1.30 USS$S162.28 USS1,002.87
171 I150 i(lﬁxlg _C?a Is'i;;b;&fé”:agr';i::::;:Ecnc;::;izted Metal Door 3 EA 0% 3 US$1,261.24 US$3,783.73 US$125.00 7.04 21.12 US$2,639.81 US$6,423.54
Railing
172 1-1/2" (1-5/8" O.D.) Painted Metal Stl.Handrail 99 LF 10% 109 USS$S12.39 USS1,355.95 USS$S125.00 0.24 25.83 USS3,228.45 USS4,584.40
173 1-1/2" Dia Hollow Steel Handrail @ 42" Max O.C 497 LF 10% 547 USS11.12 USS6,082.97 USS125.00 0.21 115.42 USS14,427.92 USS20,510.89
174 (42" H) 1/2x 11-1/2" Flat Bar Post 48" H O.C Max Guard Rail 513 LF 10% 565 US$68.00 USS$38,391.85 US$125.00 0.20 112.92 US$14,114.65 US$52,506.50
42" H Metal Guard Rail
-1-1/2" Sg.x 0.120" Painted Metal Stl Tube Guard Rail
175 -1-1/2" Sg.x 0.120" Painted Metal Stl Tube Bottom Rail 20 LF 10% 22 US$80.50 US$1,790.48 US$125.00 0.20 4.45 US$556.05 USS$2,346.53
- 5/8" Sq. Solid Painted Metal Stl. Picket @ 4" O.C.
-1-1/2" Sg.x 0.120" Painted Metal Stl Tube Post 4'-0" O.C. Max,
176 fngHl /'\z/I:tzaI,I S:f ;‘ifsgst 40" O.C. Max 84 LF 10% 92 US$57.00 US$5,247.36 US$125.00 0.20 18.41 US$2,301.48 US$7,548.84
(4'-0" W) Metal Prefabricated Stair (By Others)
- 20 Ea. Treads (10" D)
177 . N 1 EA 0% 1 US$0.00 USS$0.00 US$125.00 0.00 0.00 US$0.00 Us$0.00
- 21 Ea. Riser (7" H)
- (4'-6x 8'-0") Metal Landing 1 Ea.
178 (16" W) Metal Roof Ladder (17'-0" H Approx.) 1 EA 0% 1 USS$2,924.00 US$2,924.00 US$125.00 10.88 10.88 US$1,360.00 US$4,284.00
SUBTOTAL MATERIAL uUssS 863,014.89 SUBTOTAL LABOR uUssS 847,371.23 SUBTOTAL HOURS 6778.97 uUssS 1,710,386
I I I
TOTAL MATERIAL uUsS 863,014.89 TOTAL LABOR uUsS 847,371.23 TOTAL HOURS 6778.97 UssS 1,710,386
I I I
TOTAL MATERIAL COST| USS$ 863,015
TOTAL LABOR COST| USS 847,371
TOTAL LABOR HOURS 6778.97
Notes:
1 Online sources are used for pricing purpose. Please verify, as per your own convenience.
2 Prices can vary, depending upon field conditions.
3 All other prices are excluded that are not included in the estimate above.
4 Cells highlighted with green, please price the items as per your own facility.



mailto:projects@bidsmartestimates.com
tel:++17373076620

	Markups - Ski lodge Lodge
	Structural Steel Estimate - ski Lodge



